MATH 103 Sochacki Turn In Assignment 1 Name K EY W EST
Due May 27, 2015 50 Points

Work on the following problems. Your work must be written neatly on 8.5x11 inch paper with this sheet on the
top of your write up or I will not grade your work. All necessary work must be shown for credit. Your work
must represent the question asked:"You may discuss this assignment with others, but all work turned in must be
your own work. Your work is more important than the answer. -

[ have neither received nor given help on this project. % %L{

(Signature) 4)

1. Give sets of cardinality 2, 3 and 4 that contain words that are spelled similarly, but are pronounced
differently. _

2. Give the two forms of Pascal’s triangle that contains 11 rows. List five DIFFERENT pattern rules that
occur in these triangles,

3. Give the first 10 Fibonacei numbers. Give the ratio ‘;?*

for these numbers. What is the cardinality of

this ratio set? How many sets of cardinality five can be made from this ratio set?
4. -Give a set that has cardinality four. Give all the subsets that can be made from this set.

3. Give the value of the following. (a) C? (b) C? (c) i (4i-3) (@) i 3 (e) i(%)

6. Give a formula or rule for each of the following that works for anyne N.
@ CL=C () Y (4i-3)=2 () 3°C" =2 (@) ZG—J =7 () Yai=2
C =0 i=1

i=l i=1
7. A boy has 8 flags numbered 1 »2,3,4,5,6,7,8. How many different 3 flag signals can he make with these 8
“flags? How many different 3 flag sets can he make with these 8 flags? How many different flag sets can
he make with these 8 flags? '
8.. You have 6 quarters. How many different outcomes are possible if you flip these 6 quarters? How many
of these outcomes have 2 tails? How many of these outcomes have 3 tails? How many of these outcomes
have 4 tails?



— |~
-
ury =y 1P
=8
= P RE
™ ™~
ol I
=1 S Y )

)
&2
- =
LIRS
alWIR
M~ ol
218
2&2%9
= 7Y e I L
SIS
NSRS IR
mlnlblelelole @
almIRINIE R &
O ] pa] g pox
ale[n olnlo
slels
123%&112
o|nldle|e|nlnle
=1 R PR
o[~ |o|= |~
=]
v f e et e e e e e
N OM®BOOS oM
o -




L5, . 4-,./, / /625, /. 679 384 1619047 /5/7}

§ = {Q;B/C,C’} S has 24.:/4, subseds
Cralt g cf=4: La}, ib} fel {d

4. 4l _ 43 _¢r fa,b5, iqc} Ca,d$
C, = 712 27 ¢! % gbci zbd:%
e, d}

=40 b, Tabdd fa,c d},{b,od]

SERE {a,‘o,cjdf

9
g 9 .87 _g¢ = C (b)
S @C, = el - 32! 6

s s Uu+)
2y = | L+9+R+IT = - 45

, g é__
(d) 2813‘=3+3‘+35+m+6 - 23 -1

|

g :
(e) Z(—,Z:)L = (.7')9', = g{';_'-—l / 511
[=0

_---/ — = 2-(’_55:2‘5]24
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